

Week 13 - NFL Week 13

| Week 13 - NFL Week 13 | | |
|--|--|---|
| That's levitation Mahomes! | 6.00 | |
| Bullschmidt | 6.00 | |
| Disabled Cocks | 6.00 | |
| Toxic Fumes | 6.00 | |
| Holy Cow | 5.00 | -1.00 |
| Get My \$ Back | 3.00 | -3.00 |
| VERTICALLY CHALLENGED | 3.00 | -3.00 |
| Moose Knuckles | 1.00 | -5.00 |
| Chalupas | 0.00 | -6.00 |
| IRISH TO DESTROY MOOSE | 0.00 | -6.00 |
| Eat it on the 1st Date | 0.00 | -6.00 |
| Fudge Packers Fake Injuries | 0.00 | -6.00 |
| Week 12 - NFL Week 12 | | |
| VERTICALLY CHALLENGED | 4.00 | |
| Moose Knuckles | 4.00 | |
| Toxic Fumes | 4.00 | |
| Get My \$ Back | 4.00 | |
| Fudge Packers Fake Injuries | 3.00 | -1.00 |
| That's levitation Mahomes! | 2.00 | -2.00 |
| Eat it on the 1st Date | 1.00 | -3.00 |
| Bullschmidt | 1.00 | -3.00 |
| Disabled Cocks | 1.00 | -3.00 |
| Holy Cow | 0.00 | -4.00 |
| IRISH TO DESTROY MOOSE | 0.00 | -4.00 |
| Chalupas | 0.00 | -4.00 |
| | | |
| Wook 11 - NEL Wook 11 | | |
| Week 11 - NFL Week 11 | 4 00 | |
| Bullschmidt | 4.00 4.00 | |
| Bullschmidt Disabled Cocks | 4.00 | |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries | 4.00 4.00 | |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! | 4.00 4.00 4.00 | -1 00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date | 4.00 4.00 4.00 3.00 | -1.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes | 4.00 4.00 3.00 3.00 | -1.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas | 4.00 4.00 3.00 3.00 1.00 | -1.00 -3.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back | 4.00 4.00 3.00 3.00 1.00 1.00 | -1.00 -3.00 -3.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 | -1.00 -3.00 -3.00 -4.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 | -1.00 -3.00 -3.00 -4.00 -4.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles VERTICALLY CHALLENGED | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 | -1.00 -3.00 -3.00 -4.00 -4.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles VERTICALLY CHALLENGED Holy Cow Week 10 - NFL Week 10 | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0.00 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles VERTICALLY CHALLENGED Holy Cow Week 10 - NFL Week 10 Bullschmidt | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles VERTICALLY CHALLENGED Holy Cow Week 10 - NFL Week 10 Bullschmidt Moose Knuckles | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles VERTICALLY CHALLENGED Holy Cow Week 10 - NFL Week 10 Bullschmidt Moose Knuckles That's levitation Mahomes! | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles VERTICALLY CHALLENGED Holy Cow Week 10 - NFL Week 10 Bullschmidt Moose Knuckles That's levitation Mahomes! Toxic Fumes | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0.00 0.00 4.00 4.00 4.00 4.00 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 -4.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles VERTICALLY CHALLENGED Holy Cow Week 10 - NFL Week 10 Bullschmidt Moose Knuckles That's levitation Mahomes! Toxic Fumes Disabled Cocks | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0.00 0.00 4.00 4.00 4.00 4.00 3.00 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 -4.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles VERTICALLY CHALLENGED Holy Cow Week 10 - NFL Week 10 Bullschmidt Moose Knuckles That's levitation Mahomes! Toxic Fumes Disabled Cocks Eat it on the 1st Date | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 -4.00 -1.00 -2.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles VERTICALLY CHALLENGED Holy Cow Week 10 - NFL Week 10 Bullschmidt Moose Knuckles That's levitation Mahomes! Toxic Fumes Disabled Cocks Eat it on the 1st Date VERTICALLY CHALLENGED | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 -4.00 -4.00 -4.00 -2.00 -3.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles VERTICALLY CHALLENGED Holy Cow Week 10 - NFL Week 10 Bullschmidt Moose Knuckles That's levitation Mahomes! Toxic Fumes Disabled Cocks Eat it on the 1st Date VERTICALLY CHALLENGED Get My \$ Back | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 -4.00 -4.00 -4.00 -4.00 -3.00 -3.00 -3.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles VERTICALLY CHALLENGED Holy Cow Week 10 - NFL Week 10 Bullschmidt Moose Knuckles That's levitation Mahomes! Toxic Fumes Disabled Cocks Eat it on the 1st Date VERTICALLY CHALLENGED Get My \$ Back Chalupas | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -4.00 -4.00 -4.00 -4.00 -4.00 -4.00 -2.00 -3.00 -3.00 -3.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles VERTICALLY CHALLENGED Holy Cow Week 10 - NFL Week 10 Bullschmidt Moose Knuckles That's levitation Mahomes! Toxic Fumes Disabled Cocks Eat it on the 1st Date VERTICALLY CHALLENGED Get My \$ Back Chalupas Holy Cow | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 -4.00 -4.00 -2.00 -3.00 -3.00 -3.00 -4.00 |
| Bullschmidt Disabled Cocks Fudge Packers Fake Injuries That's levitation Mahomes! Eat it on the 1st Date Toxic Fumes Chalupas Get My \$ Back IRISH TO DESTROY MOOSE Moose Knuckles VERTICALLY CHALLENGED Holy Cow Week 10 - NFL Week 10 Bullschmidt Moose Knuckles That's levitation Mahomes! Toxic Fumes Disabled Cocks Eat it on the 1st Date VERTICALLY CHALLENGED Get My \$ Back Chalupas | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -4.00 -4.00 -4.00 -4.00 -4.00 -4.00 -2.00 -3.00 -3.00 -3.00 |



| Week 9 - NFL Week 9 | | |
|---|--|---|
| Get My \$ Back | 4.00 | |
| That's levitation Mahomes! | 4.00 | |
| Eat it on the 1st Date | 4.00 | |
| Moose Knuckles | 4.00 | |
| Disabled Cocks | 3.00 | -1.00 |
| VERTICALLY CHALLENGED | 3.00 | -1.00 |
| Toxic Fumes | 1.00 | -3.00 |
| Bullschmidt | 1.00 | -3.00 |
| IRISH TO DESTROY MOOSE | 0.00 | -4.00 |
| Fudge Packers Fake Injuries | 0.00 | -4.00 |
| Holy Cow | 0.00 | -4.00 |
| Chalupas | 0.00 | -4.00 |
| Chalupas | 0.00 | |
| Week 8 - NFL Week 8 | | |
| Disabled Cocks | 4.00 | |
| IRISH TO DESTROY MOOSE | 4.00 | |
| Eat it on the 1st Date | 4.00 | |
| Toxic Fumes | 4.00 | |
| Bullschmidt | 3.00 | -1.00 |
| Fudge Packers Fake Injuries | 3.00 | -1.00 |
| VERTICALLY CHALLENGED | 1.00 | -3.00 |
| Get My \$ Back | 1.00 | -3.00 |
| Chalupas | 0.00 | -4.00 |
| Holy Cow | 0.00 | -4.00 |
| That's levitation Mahomes! | 0.00 | -4.00 |
| Moose Knuckles | 0.00 | -4.00 |
| Moose Rhuckles | | |
| | | |
| Week 7 - NFL Week 7 | | |
| | 4.00 | |
| Week 7 - NFL Week 7 Get My \$ Back Chalupas | 4.00 4.00 | |
| Get My \$ Back | | |
| Get My \$ Back Chalupas | 4.00 | -1.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! | 4.00 4.00 | -1.00 -1.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes | 4.00 4.00 3.00 | |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks | 4.00 4.00 3.00 3.00 | -1.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow | 4.00 4.00 3.00 3.00 3.00 | -1.00 -1.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE | 4.00 4.00 3.00 3.00 3.00 2.00 | -1.00 -1.00 -2.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles | 4.00 4.00 3.00 3.00 3.00 2.00 1.00 | -1.00 -1.00 -2.00 -3.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 | -1.00 -1.00 -2.00 -3.00 -4.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date VERTICALLY CHALLENGED | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date VERTICALLY CHALLENGED Week 6 - NFL Week 6 | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 0.00 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date VERTICALLY CHALLENGED Week 6 - NFL Week 6 That's levitation Mahomes! IRISH TO DESTROY MOOSE | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 0.00 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date VERTICALLY CHALLENGED Week 6 - NFL Week 6 That's levitation Mahomes! | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 0.00 4.00 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date VERTICALLY CHALLENGED Week 6 - NFL Week 6 That's levitation Mahomes! IRISH TO DESTROY MOOSE Toxic Fumes Eat it on the 1st Date | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 0.00 4.00 4.00 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -4.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date VERTICALLY CHALLENGED Week 6 - NFL Week 6 That's levitation Mahomes! IRISH TO DESTROY MOOSE Toxic Fumes Eat it on the 1st Date VERTICALLY CHALLENGED | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 0.00 4.00 4.00 3.00 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -4.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date VERTICALLY CHALLENGED Week 6 - NFL Week 6 That's levitation Mahomes! IRISH TO DESTROY MOOSE Toxic Fumes Eat it on the 1st Date VERTICALLY CHALLENGED Fudge Packers Fake Injuries | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 0.00 0.00 4.00 4 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -4.00 -1.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date VERTICALLY CHALLENGED Week 6 - NFL Week 6 That's levitation Mahomes! IRISH TO DESTROY MOOSE Toxic Fumes Eat it on the 1st Date VERTICALLY CHALLENGED | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 0.00 0.00 4.00 4 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -4.00 -1.00 -1.00 -2.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date VERTICALLY CHALLENGED Week 6 - NFL Week 6 That's levitation Mahomes! IRISH TO DESTROY MOOSE Toxic Fumes Eat it on the 1st Date VERTICALLY CHALLENGED Fudge Packers Fake Injuries Get My \$ Back Moose Knuckles | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 0.00 0.00 4.00 4 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -4.00 -4.00 -1.00 -2.00 -2.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date VERTICALLY CHALLENGED Week 6 - NFL Week 6 That's levitation Mahomes! IRISH TO DESTROY MOOSE Toxic Fumes Eat it on the 1st Date VERTICALLY CHALLENGED Fudge Packers Fake Injuries Get My \$ Back Moose Knuckles Holy Cow | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 0.00 0.00 4.00 4 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -4.00 -4.00 -4.00 -1.00 -2.00 -2.00 -3.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date VERTICALLY CHALLENGED Week 6 - NFL Week 6 That's levitation Mahomes! IRISH TO DESTROY MOOSE Toxic Fumes Eat it on the 1st Date VERTICALLY CHALLENGED Fudge Packers Fake Injuries Get My \$ Back Moose Knuckles Holy Cow Chalupas | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 0.00 0.00 4.00 4 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -4.00 -4.00 -4.00 -1.00 -2.00 -2.00 -3.00 -3.00 |
| Get My \$ Back Chalupas That's levitation Mahomes! Disabled Cocks Toxic Fumes Holy Cow IRISH TO DESTROY MOOSE Bullschmidt Moose Knuckles Fudge Packers Fake Injuries Eat it on the 1st Date VERTICALLY CHALLENGED Week 6 - NFL Week 6 That's levitation Mahomes! IRISH TO DESTROY MOOSE Toxic Fumes Eat it on the 1st Date VERTICALLY CHALLENGED Fudge Packers Fake Injuries Get My \$ Back Moose Knuckles Holy Cow | 4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 0.00 0.00 4.00 4 | -1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -4.00 -4.00 -1.00 -2.00 -2.00 -3.00 -3.00 -4.00 |



Week 5 - NFL Week 5

| Week 5 - NFL Week 5 | 4.00 | |
|---|---|---|
| Holy Cow | 4.00 | |
| Toxic Fumes | 4.00 | |
| VERTICALLY CHALLENGED | 4.00 | |
| Moose Knuckles | 3.00 | -1.00 |
| Disabled Cocks | 3.00 | -1.00 |
| Eat it on the 1st Date | 2.00 | -2.00 |
| That's levitation Mahomes! | 2.00 | -2.00 |
| Chalupas | 1.00 | -3.00 |
| Get My \$ Back | 1.00 | -3.00 |
| Bullschmidt | 0.00 | -4.00 |
| | 0.00 | -4.00 |
| Fudge Packers Fake Injuries | | |
| IRISH TO DESTROY MOOSE | 0.00 | -4.00 |
| Week 4 - NFL Week 4 | | |
| Fudge Packers Fake Injuries | 4.00 | |
| VERTICALLY CHALLENGED | 4.00 | |
| Get My \$ Back | 4.00 | |
| That's levitation Mahomes! | 3.00 | -1.00 |
| Disabled Cocks | 3.00 | -1.00 |
| Bullschmidt | 3.00 | -1.00 |
| Moose Knuckles | 2.00 | -2.00 |
| | 1.00 | -3.00 |
| | 0.00 | -3.00 |
| IRISH TO DESTROY MOOSE | | |
| Eat it on the 1st Date | 0.00 | -4.00 |
| Holy Cow | 0.00 | -4.00 |
| Chalupas | 0.00 | -4.00 |
| | | |
| Week 3 - NFL Week 3 | | |
| Week 3 - NFL Week 3 Moose Knuckles | 4.00 | |
| | 4.00 4.00 | |
| Moose Knuckles | | |
| Moose Knuckles Disabled Cocks Bullschmidt | 4.00 | |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED | 4.00 4.00 4.00 | -1.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE | 4.00 4.00 4.00 3.00 | |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow | 4.00 4.00 3.00 3.00 | -1.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! | 4.00 4.00 3.00 3.00 1.00 | -1.00 -3.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes | 4.00 4.00 3.00 3.00 1.00 1.00 | -1.00 -3.00 -3.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 | -1.00 -3.00 -3.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 | -1.00 -3.00 -3.00 -4.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 | -1.00 -3.00 -3.00 -4.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date Fudge Packers Fake Injuries | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date Fudge Packers Fake Injuries Week 2 - NFL Week 2 That's levitation Mahomes! | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date Fudge Packers Fake Injuries Week 2 - NFL Week 2 That's levitation Mahomes! Fudge Packers Fake Injuries | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date Fudge Packers Fake Injuries Week 2 - NFL Week 2 That's levitation Mahomes! Fudge Packers Fake Injuries IRISH TO DESTROY MOOSE | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date Fudge Packers Fake Injuries Week 2 - NFL Week 2 That's levitation Mahomes! Fudge Packers Fake Injuries IRISH TO DESTROY MOOSE Disabled Cocks | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date Fudge Packers Fake Injuries Week 2 - NFL Week 2 That's levitation Mahomes! Fudge Packers Fake Injuries IRISH TO DESTROY MOOSE Disabled Cocks Eat it on the 1st Date | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date Fudge Packers Fake Injuries Week 2 - NFL Week 2 That's levitation Mahomes! Fudge Packers Fake Injuries IRISH TO DESTROY MOOSE Disabled Cocks Eat it on the 1st Date Moose Knuckles | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 -4.00 -1.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date Fudge Packers Fake Injuries Week 2 - NFL Week 2 That's levitation Mahomes! Fudge Packers Fake Injuries IRISH TO DESTROY MOOSE Disabled Cocks Eat it on the 1st Date Moose Knuckles Bullschmidt | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 -4.00 -1.00 -3.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date Fudge Packers Fake Injuries Week 2 - NFL Week 2 That's levitation Mahomes! Fudge Packers Fake Injuries IRISH TO DESTROY MOOSE Disabled Cocks Eat it on the 1st Date Moose Knuckles Bullschmidt Chalupas | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -4.00 -4.00 -4.00 -4.00 -1.00 -1.00 -3.00 -3.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date Fudge Packers Fake Injuries Week 2 - NFL Week 2 That's levitation Mahomes! Fudge Packers Fake Injuries IRISH TO DESTROY MOOSE Disabled Cocks Eat it on the 1st Date Moose Knuckles Bullschmidt Chalupas Get My \$ Back | 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0 | -1.00 -3.00 -4.00 -4.00 -4.00 -4.00 -4.00 -1.00 -3.00 -3.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date Fudge Packers Fake Injuries Week 2 - NFL Week 2 That's levitation Mahomes! Fudge Packers Fake Injuries IRISH TO DESTROY MOOSE Disabled Cocks Eat it on the 1st Date Moose Knuckles Bullschmidt Chalupas Get My \$ Back Holy Cow | 4.00 4.00 3.00 3.00 1.00 0.00 0.00 0.00 0.00 0 | -1.00 -3.00 -4.00 -4.00 -4.00 -4.00 -4.00 -1.00 -3.00 -3.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date Fudge Packers Fake Injuries Week 2 - NFL Week 2 That's levitation Mahomes! Fudge Packers Fake Injuries IRISH TO DESTROY MOOSE Disabled Cocks Eat it on the 1st Date Moose Knuckles Bullschmidt Chalupas Get My \$ Back Holy Cow VERTICALLY CHALLENGED | 4.00 4.00 3.00 3.00 1.00 0.00 0.00 0.00 0.00 0 | -1.00 -3.00 -4.00 -4.00 -4.00 -4.00 -4.00 -1.00 -3.00 -3.00 -4.00 -4.00 -4.00 |
| Moose Knuckles Disabled Cocks Bullschmidt VERTICALLY CHALLENGED IRISH TO DESTROY MOOSE Holy Cow That's levitation Mahomes! Toxic Fumes Chalupas Get My \$ Back Eat it on the 1st Date Fudge Packers Fake Injuries Week 2 - NFL Week 2 That's levitation Mahomes! Fudge Packers Fake Injuries IRISH TO DESTROY MOOSE Disabled Cocks Eat it on the 1st Date Moose Knuckles Bullschmidt Chalupas Get My \$ Back Holy Cow | 4.00 4.00 3.00 3.00 1.00 0.00 0.00 0.00 0.00 0 | -1.00 -3.00 -4.00 -4.00 -4.00 -4.00 -4.00 -1.00 -3.00 -3.00 -4.00 |



Week 1 - NFL Week 1

| Eat it on the 1st Date | 4.00 | |
|-----------------------------|------|-------|
| Bullschmidt | 4.00 | |
| Chalupas | 4.00 | |
| Toxic Fumes | 4.00 | |
| That's levitation Mahomes! | 3.00 | -1.00 |
| Moose Knuckles | 3.00 | -1.00 |
| Holy Cow | 1.00 | -3.00 |
| Fudge Packers Fake Injuries | 1.00 | -3.00 |
| VERTICALLY CHALLENGED | 0.00 | -4.00 |
| Get My \$ Back | 0.00 | -4.00 |
| IRISH TO DESTROY MOOSE | 0.00 | -4.00 |
| Disabled Cocks | 0.00 | -4.00 |